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I v v’s assessment of violations of »0’2 n»1aw, past and future
a  future: violation of 7pw nyaw (v. 1)
b past: violation of Xnw nyaw (v. 2)
¢ mmpnp (violation of 772): violation of Yn’ 51 (v. 3)
i challenge: statement that 1pw::x1W
1 assumption: just as RnW is about the past (or ongoing reality), so too, 9pw is about past
2 rejection: each has its own domain
(a) meaning: of “they are one” — they were said as one (v. 5), as per Xn»11 about 1121 1MW (v. 4)
(b) challenge: we understand the purpose of 9121 199w being determined to be synchronous —
(i) as per: naNR 72 RTR 1 who inferred women's obligation in w11p from it
(c) however: what is the purpose of equating pw:x1W?
(i) answerl: just as man are given for 9pw, so too given for XKNY
1. countering: 9"1's supposition that npy 8> (v. 2) is utter impossibility of forgiveness
(ii) answer2: just as we bring T 0% 127p for 9pw (future), so too for XMW (past)
1. and: it follows "1 who generates parallel liability for past (contra Yrynw '7)
ii  challenge: "W is defined as defying what everyone knows; 1pw as altering the truth
1 answer: read (for 7pw) — YNy Yawi —i.e. about the future
II  alternate report in 1311 '7’s name from nar "
a  past: violation of 7pw ny1aw
b future: violation of Yn 52
¢ swearing to what is commonly known to be unture: violation of X1 nyaw
i 977 this report of 10ar "1 was never made explicitly, rather inferred:
1 report: 13nv "1 quoted N’ *3 quoting »"n1 - no mMan for N except for (Y9pn , 10 and) Yaw)
(a) and:»"av1 DW1 1INV 1 — source for Yawl — v. 2 —'n doesn’t atone, but 772 does via man
(i) interjection: 8" asked »aR why we don’t read it that there is no atonement at all
(ii) answer: had it said npy RY — correct; but it states 'n npy RY = but 772 does via NN
(b) and: 13y 7 (on his own) extended to 1pw N1awY, due to RIWH RIWY (V. 2)
(c) 173x 7asked: what is the 1pw ny1w?
(i) if: future — and he violates by eating — there is a nwyn; if he violates by not eating —no man
1. 21792 71 because it is a N"aARW IRY
2. 5”1 because it is a pav NRINN
(if) must be: about the past = 1nar "1 holds that a violation of 'n%aR is 7pw Nyaw
1. question: why is this different (from n”arw 18 about the future — no man)?
2. answer (827): the NN by using X1, the "N equates pY:RNY
a. justas: ®MW is about the past (or the constant reality), so too 1pw is about the past
(iii) challenge (772077 77): multiple m»aw where he states 5218 85w have 1 2vn (MY1awn Y YN MY PR)
1. and: “this” is the "2 ny1aw for which we are liable man or 127p
a. assumption: R0 11 excludes liability for the past
b. defense: perhaps ®'n 1 excludes 'n%aR 891 YR from 1297 (per HRYNY? )
c.  block: xo>o identifies XMW ny1aw and says this is kMW MW for which mMan or Ma (MW)
i.  and: doesn’t that exclude %R R 'NYIR — no mMan
ii. rejection: it excludes 'n%aR R 'nYIR from exemption 11 — per Y™
iii. challenge: we already identified the author as »?
iv. answer: it is all ", the Rwn excludes Y218 R Y218 from Mman
v. argument: since it mentions RanY, stands to reason that it is excluding another 8an%

www.dafyomivicc.org 18 © Yitzchak Etshalom 2010




YDID MYRI0'T YR ORI nyI2Y Noon MY AT TINHY Y opT

III Analyzing »"¥'s position in the niwn — liability for 129p for eating a ®1nw %>
a  question:

i

ii

iii

iv

vi

does ™ universally hold like " that there is liability for 8”arn at w”> — and n>13 is only for j29p 2vn
1 and’the dispute is re; 129p to show 1327's position
(a) which is even though we would have reason to find liability for v”s — since if he said explicitly that he
wouldn’t eat w3, he’d be liable, perhaps the unspecified statement is also v
or: does he only hold that position in re:nyaw,
1 rationale: as above
solution: in the nawn, 1327 ask ™ for a precedent, and he doesn’t claim that there’s always liability for v
1 block: perhaps that is only 13277 D275 -
argument: Y"’s rule about MOIRY q703N N for PN MR — why does he need it, if any 1yw generates man?
argument: nwn rules that if he takes an oath not to eat (at all) and eats nwnm wxpY etc. —
1 owom liable
2”1 exempt
(a) and: we asked — how could he be 17n; he’s already foresworn from *°0 70 (1291 Y2wIN)
(b) Sxwowr 27,pn 1 if he included permitted things along with these
(c) 572 could only be if he explicated a myw »3n (1227) or unexplicated according to y™
(i) reason: y™ allows for prohibiting 1w Y3 = he prohibited that which wasn’t Tmy yawvin
conclusion: y"1 generally holds like n'nan —no moan for less than n13; only in case of Naw as per rationale pre-
sented above.
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